PO N9°N NV0IAN W 2YNDN VTN NNN 46..
N :
Department of Computer Science University of Haifa

QWA SYTAY R1an
7/3/02 ,2"own 'R M0N0 L'a TN

L0 W TR
D011 IROY LI 75w caveannn

JXM OPNYY sImanT R
AWK 7277 .71V R0 9 M Y N
:ndmn
727 09IV 23 HY MWD DR 2MOY W .2TINY 8 0237w 092 D IR
.7292 DDV DRI 0OV 93 DR WIATN
SOV NIV 12mNNY 197 A9RWA DR 2°1°2 ONK 0D IRTY LI9RW 7 207 WRP
MWD P I[2ANT 09IV PNV UL DT WANYT LRI N2 77 2002 120D
J1IP72°0 RD NIRIP XD N123WN .N1O10
.C nY¥P1ID 7132 03 ,N°12Y2 2127 101 22 MAWN? MY
PVT2 NAR PO VIA? WO RPND TAT? 02°HY IWRD ,NIAR 201 KD OX
NPT NPEPND WRNWwIY 1001 R
17252 NIR2T N1IDDT TN NIPXPID WRNWI? 1071 111N ,NINR 2ND1 KD OX
stdio.h
stlib.h
string.h
ctype.h
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int permutation (int array[N])

{
int temp[N];
int i;

for (i=0; i<N; i++)
temp[i] = -1;
for (i=0; i<N; i++)
if (array[i1] >= 0 && array[i1] < N)
temp[array[i]] = array[i];
else
return O;
for (i=0; i<N; i1++)
it (temp[1] == -1)
return O;
return 1;
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/* search “n” in “v’; O(log |Vv]) */

int binsearch (int n, int v[], int low, int high) ;

/* sort ‘array’ of length ‘n’ using merge; O(n log n) */
void mergesort (int arrayl[]l, int n);

int contained (int arrayl[ ], int barrayl[ 1)

{

int 1i;

mergesort (barray, N);
for (i=0; i<N; i++) {

if (binsearch (arrayl[i]l, barray, 0, N) < 0)
} return O;

return 1;
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typedef enum {WHITE, BLACK} Pixel;
typedef Pixel Picture[N][M];
#define-2 2°773m M-1 N wK2
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typedef int Dominance [N] [M] ;
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void compute dominance (Picture p, Dominance d)
{
int i,j;
for (J=0; j<M; j++) { /* base case: bottom row */
d[N-110131 = pIN-11[3]1; 7* d is 1 if p is black, 0O otherwise */
+

for (i=N-2; 1>=0; i--) { /* compute upper rows */
for (J=0; j<M; j++) { /* for each column */
) diilpl = (plilbl ? dii+1]0g] + 1 - 0);




T 15-2

DR 779 ,A0202 XD YW MDPTNRIPY 79w 7uhwa 800 DR LI NPapnT PPN 120D
N2 ,PWRY W 1P IR TIPTIPA RIT 1IN RDAW NP2 NTAT 0w 12000 v o
JAPDTD DY RPIDT INN ,ATIPN TNYAY 395w d J0Lwa NI p 7370 DImN

max rect at point (p, 4, 0, 0) — 0
max_rect at point (p, 4, 0, 1) — 6
max _rect at point (p, 4, 0, 2) — 4
max rect at point (p, 4, 1, 2) — 4
max rect at point (p, 4, 2, 2) — 2
max _rect at point (p, 4, 3, 2) = 1
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int max_rect_at_point (Picture p, Dominance d, int i, int j)

{
int k, length, width, area;

if (Ip[i10OD {

return O;
}

area = length = d[i][]J]; /7* for a rectangle of width 1,
area = length */
k = j+1; width = 2; /* try rectangles of increasing width */
while (k < M && p[i1]Ik]) { /7* as long as the line is black */
length = MIN (length, d[i][k]);
area = MAX (area, width*length);
k++; width++;
+

return area;
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{

int max rect (Picture p)

int i,j,size;
int max = O;
Dominance d;

compute_dominance (p,d);
print_dominance (d);

for (i=0; i<N; i++) {
for (g=0; j<M; j++) {
size = max_rect_at_point (p, d, i, j);
1T (size > max) {
max = size;
by

by
}

return max;
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typedef struct node {
int data;
struct node *next;
} Node;
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Node reverse list (Node *list)

{
Node *p;
iT (___ list->next == NULL ) {
return ( list )
} else {
p = reverse_list (___ list->next );
list->next->next = list ;
list->next = NULL ;
return ( p );
3
i
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#include <stdio.h>
int x=10;
int y=11;

int F1(int x, inty) {
1T(x/2==y/2)
return x/2;
y/=2;
return y;

}

int f2¢int *x, int y) {
It ((x % 10) < (y/2))
return *x=y;
return y/2;

}

void 30 {
int z;
x=y=z=200;
return;

}

int main( ) {
int z=6,i1=7,jJ=8;

z+=F1(1,]j); . .
printf(C'z=%d i=%d j=%d\n",z,i,j); | 2= 10 =7 =8

Zz=8;

z=F2(&1,}); _ y .
printf("z=%d i=%d j=w%d\n",z,i.j); |- 4 = 7 =8

printf('x=%d\n",x); x= 10

z=100;

30;

printf("'x=%d y=%d z=%d\n",x,y,z); | x= 200 y= 200 z=100

int x=20;
Int *y=&x;

X+=5; _ _
printf('x=%d *y=%d\n",Xx,*y); x= 25 *y= 25

+

return. 0;



